1.
· Correlation  quantifies the direction and strength of linear relationship between two quantitative variable.
· To compute the correlation, you need to know the standard deviation and covariance of X and Y.
· Of the three measure of central tendency, the mean Is affected most by an outlier.
· Restriction of range usually makes a correlation appear weaker than it actually is.
· The symbol for the sample size is n.
· A z-score of 1.00 means a score is one  standard deviation  above the mean.
· The variance  is the average of the squared deviations of a dataset.
· The difference between an observed value and the main of the set of value is a residual.

2.
a. Type II error.
b. alternative hypothesis.
c. p-value
d. critical value (s)
e. observed frequency
f. margin of error
g. null hypothesis
h. p-value
i. Type I error
j. Type II error

3.	(b) 1.39
4.	(a) All High School US Student
5.	(c) The 100 students who completed the survey
6.	(c) The video
7.	(d) Attitude towards bullying
8.	Z-score = 2.921
9.	probability = 0.002
10.	(a) 4
11.	(c) 17
12.	(b) positively skewed
13.	(d) ratio

14.	(b) 
15.	
a. One sample t-test
b. Independent samples t-test
c. Dependent/Paired t-test
d. ANOVA F-test
e. Chi-square test of independence

16.	SSW = 294.000
17.	DFB = 3
18.	MSB = 15.000
19.	F = 10.000
20.	Number of groups = (c) 4
21.	Number of subjects in each group = (b) 50
22.	(a) Math scores are higher than science scores, but the difference in scores is not statistically significant.
23.	(a) The difference scores between the math and science scores of each individual.
24.	
The correct options are:
(a) As score in one subject increases, the scores on the other subject are likely to increase.
(d) As score in one subject decreases, the scores on the other subject are likely to decrease.
25.	(b) Less than 0.65 due to restriction of range.
26.	The correct graph is (A)
27.	(b) Means are not significantly different

28.	(a) 
29.	(b) 14%
30.	(a) There is a significant relationship between tobacco use and graduating college.  Graduates are more likely to not use tobacco; non-graduates are more likely to use tobacco.
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